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B 3.21 M KA 69 =4 SKiilPPACK 84 47/ 4544

SR, T oK AT RE 2 51 A Az AN GE R, B DAY i 3K B 3 1T 5K K TG
BRERRROWNA.

WMREKGHWEHES, MEHARNRERES TR (P, YAHE
 50% DL K W AR IR BE SR 40°C B B B R 3.4kIkgrK) o 53 Ab, & H1 I BORS
bb B 5 o A O e ) B T, S BB R 3R A0 4 T 2 TR BB Ry 2
Wamo B, eI, & 50% B i & 50 BB 2 38 m 49 50% ] 60%; 1
WA B 00% B, P & i — 4 BT 60% F] 70%.

R T BB B, SEMIKRON 148 i 7k ¥ B #4 48 TR 12 (4 & 8 A8 T 10%.
S H ARSI 6, 2% AR E KT 60°C I, W B G M X
iy & K o

SR K W, o AL B SKIiPPACK WY BL IR S8 AT DA B I, R N2 B8
i, BB (Fl, SEMIKRON H F SKiiPPACK K& BLa88) BB N
10 U/min PA J 2% H 50/50% WK BER G W, BT R H TR ZEA N
17K,

XK SKiiPPACK FE 41 M & 8% 5 9 336271 .

3.3.6 AT SKiPPACK N ir BB EN ST

3361 BERE

M SKiiPPACK R Ji #7 ¥ P16 T Bt #4448 DL Bt SKF & 16B X B3 (GD 133-2k-
40105) I, HETHNANEE BN ERBEMNHSEHO TEN R, £EP,
Rinsator ) B ST, RIS (T Mk DR E (T ZAMBESELEMN
BIhFE P S
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M Zinsaror 29 B AR, TAE T DA b A SRR A% BE (T Ak 1 3 32 (T) 1)
HHR 725 R S B TR P i F S

Zipsator = é R, - [l' eXp(-t/Tu)]

e BT 2 B (DY Bk i) B T )

R: R, R3 R4 ER 1 Ty T3 Ty
KW K/W K/W KW K/W S S S 5

28 SKiiPPACK (V4 /t = 310 m¥h)

1.383 1.886 6.663 3.640- 4.299: 2579 6.350- 5.831 1.543
102 102 10® 10® 102 10?2 10 102
3 SKiiPPACK (Va/t = 305m3h)
1.157- 1.669- 3.512- 3.097- 3.487: 2638 6.625 6.049 2.000-
102 102 10° 10°® 102 1?2 10t 10?
4% SKiiPPACK (Vi /t = 300m?/h)
1.398 2,048 7.012 2448 3.134 5398 1.724- 2.008 2.876
10° 102 10° 10° 102 10?2 100 100 102

M SKIiPPACK b TR B ECRA TN, EHERFEF IR T EZ 0N
M0 5| A2 B & 30 23 3 2 10 BRI DL ST B 9 SKIiPPACK X & ) 25 S i TR AR

hY. o
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B 3.22 # 34 KA 65 SKilPPACK 44 3% % i&

b P T B R R AT DL B SKiIPPACK AY 8 B 8 P DL S R AR W8 4 B 34 48
Z [H) ) 0 A BB A 2 A BB SR 18, WA 3.22. B — > SKiiPPACK Y 2 7#& B
G AT I /A W 7 =

55—~ SKiiPPACK
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Zipsaton = 2, R, + |1~ -t/T,
thsa tot1 vEﬂ [ eXp( T)]
% — 4> SKiiPPACK
4 ,
Zinsarorz = g,l R, - [1' exp(-t/ Tv)] + (onu/ PtotZ) * Rineat-2 * [1-exp(-t/ Taal-z)]
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z =§R -[1—e<p(-t/f )]+[(P +P, >/P ]-R -[l—exp(-t/f )]
thsatot3 Pt v v totl tot2 tot3 thaa2-3 aa2-3
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M SKiiPPACK 3R F b i /K ¥ B3 8% S1021450 (HEk O 5 HKk O £ R/ —
Sk, ¥ H A 50%/50% 7K B IR G i, I8 B A 50°C) B, T U A I () H B %
BRI SN TR R . BT SKIiPPACK A B ) B2 K88, BmiE

BE T AT DA% F AR SRR IR BE T M 2 A TS R B E X

Runowto A S B BH, iy 5 S AR 0 B (T At LR (T,) 2 MBI Z 5 &

GiH) B IFE Po it A

1
Rinswtot = E R,
=1

T Zinswion A 30 &S BUHL, WA AT DL A AR RS IR BE (T Ak MREE (Ty) =

W] iR 25 5 R W BT G Po i A

ZLinsutor = vzlev N [1' eXp('t/T")]

R HR 1 BRI £ 80 (I B TR) B AL
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I/min R; R, Rs Ry 2R 7, 7, T4 T,
KIW  K/W K/W KIW  K/W s s s S

28 SKiiPPACK

6 1.942. 6.262. 3785 6.608 1.860- 1.225. 2911 1189 5.196-
0% 10°  10% 108 10?2 10t 10t 10t

10 1942 6.262- 4.402- 2993 1560 1.225. 2911 1782 1.131
108 10°  10®  10% 10?2 10 10 102

14 1.942. 6262 4628 1.667- 1.450- 1.225. 2911 2000 1.355
108 10°  10%  10® 10?2 10t 10 102

3 B SKiiPPACK

6 2.143. 3818 9405 2535 1.790- 2.204. 3343 2800 1.123
108 10°  10®  10° 10?2 10t 10 102

10 2143 3818- 6.683- 2.057- 1.470- 2.204. 3.343 2367- 1.094-
0% 10°  10% 108 1072 10t 10t 102

14 2.143. 3818- 5662 1878 1.350- 2.204. 3.343 2205 1.083
108 10°  10®  10% 10?2 10 10 102

4 % SKiiPPACK

6 8.714. 2.893. 7573- 1.970- 1.331 9.939. 2038 2700- 1.462
104 10°  10®  10% 102 102 10 102

10 8.714. 2.893. 4785 2052- 1.060- 9.939.- 2.038 1.868- 9.085-
104 10°  10®  10® 10?2 10?2 10 10

14 8.714. 2.893- 3.649- 2.086- 9.499 9.939. 2038 1529- 6.830-
104 10° 10®  10°  10° 10?2 10 10
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